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Question Number : 1 Question Id : 4509386561 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Letf(x) =3+2vandg (x) = (fo fofo...ntimes) (x).

Vn € Nif all the lines y =g (x) pass through a fixed point (¢ f), then o+ =
f(0)=3+2x DO g,()=(fo fofo..0arD) (x) ODROT0. B n€EN
O y=g (x) DDEN ) 28 A6 Do) (0. f) 0" B, a+h =

Options:

—3



%
—3
3. %
—8
4. &

Question Number : 2 Question Id : 4509386562 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

X —_ { -d.'
Leta>1and0 < b<l. If f: R - [0, 1] is defined by f(x) = {z" g 2 ” then f(x) is
a*, oa{:.w:o o3
a> 1000 0 < b<l @D&od. f:R-[0,1]e, fx)=1{,, W%éga@.
b A £
9 )00 f(x)
Options :
A bijection

2,8 & 589 100D

One-one but not onto

29 5530 57 DO S5



Onto but not one-one

QoD 5% 9 850 5

3. %
Neither one-one nor onto
DO 57 @9 §8a0 5°CD
4.

Question Number : 3 Question Id : 4509386563 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
: + : + 1 = to50t =
37 741 © 1145 PR R
1 1 1

Options :
50
203
1. ®
50
609
2.«
150
203
3. %

4. ®



Question Number : 4 Question Id : 4509386564 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1 0 2
IfA=|2 1 3|.then 42 — 54+ 61 =
& & 4
T 0 2
Azlz 1 3| ®@on®. 42 —54 + 61 =
3 2 4
Options:
8 4 0
3 8 4
4 0 12
1. ®
8 4 0
3 6 4]
4 0 14
2. %
8 6 0
3 8 4
2 0 14
3. %
8 4 0
[3 8 4]
4 0 14



Question Number : 5 Question Id : 4509386565 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sum of the positive roots of the equation

242 x+2 1
240l wel 1] =tas
x+2 —1 1
242 x+2 1 - )
2x+1 x—1 1 =0 dDEB0 B0EY Gdsrere) Indo
x+2 —1 1
Options :
1++V13
7,
1.«
1
2. ®
Jig—1
2
3. %
3
4, %

Question Number : 6 Question Id : 4509386566 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If the solution of the system of simultaneous linear equations x+y—z=6,3x+2y-z=5
and2x-y-2z24+3=0sx=ay=F,z=y.thena+f =
X+y-2=63r+2y-2=52r-y-22+3=0 O JE5OE Ered danEBeTe)

530 OR0E) PO x = @,y = B,z = y WOV, a + B =

Options:

g
1. ®

2
2.«

1
3. %

—3
4. ®

Question Number : 7 Question Id : 4509386567 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, . s B
If the pomnt p represents the complex number z = x 4 iy in the argand plane and if vl L
B - Z_

purely imagimary number then the locus of p 1s
i .
ST06 HSO0E p Do) 9088 05 2 = x +iy & A0S — 89

§€)16b 0 LONE, p BINE) Hothago

Options:

1. %



x2+y2+x—vy=0and (x,v) = (1,0)
2+ y2+x—y=0080 (x,y) = (1,0)

x2+y%2—x+y=0and(x,y) # (1,0)
x2+y2—x+y=0:080W (x,y) = (1,0)

2.4
x2+y2—x+y=0and (x,y) = (1,0)
x2+y2—x+y =008 (x,¥) = (1,0)
3. %
2+y?+x+y=0
4, %

Question Number : 8 Question Id : 4509386568 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

S={zeC/|z+1—1i| = 1} represents

S={zeC/|z+ 1 —i] = 1} DOV DTE

Options:

the circle with centre at (-1. 1) and radius 1 unit

S0(G0 (—1. 1) DBAW 5o 1 ATIE ™ Hed 59edsn
1.¢



the circle with centre at (1. -1) and radius 1 unit

30150 (1. —1) SHEOSN G0 1 ARTIED 1T (1) $5€8e0

the closed circular disc with centre at (1. -1) and radius 1 unit

S0(G50 (1. —1) DB T5PE0 1 ARTFACD TP (1) )& DOE0

the closed circular disc with centre at (-1.1) and radius 1 unit

S0(0 (1. 1) DA arsard0 1 ALY T e 2,8 TS He%0

Question Number : 9 Question Id : 4509386569 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If cosa + cosff + cosy =sina + sinff + siny = 0 then
(cos®a + cos3B + cos®y)* + (sina + sin®f + sin®y)? =

cosa + cosf +cosy =sina +sinf + siny = 0 ©ONS

(cos®a + cos®B + cos®y)? + (sinda + sin®f + sin®y)? =

Options :
1
1. %
3
4
2. %



Question Number : 10 Question Id : 4509386570 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If « and [ are two double roots of x% + 3 (a + 3)x — 9a = 0 for different values of a (@ > f).
then the minimum value of x% + ax — f = 01s
a G08) D) NSO 12 +3 (a+3)r -9 =0 S5 HHE reren o f
(@> ) OOV x% + ax — f = 0 GF) §al DOV

Options :
69
1. % X
69
4
2.
35
4
3. %
30



Question Number : 11 Question Id : 4509386571 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If2x% +3x —2=0and 3x* + ax — 2 = 0 have one common root. then the sum of all possible

values of ¢ 15

202 431 -2= 00000 32 +ax—2=0 e 28 &l rerd) $O8 &) a

50 P2 TDE DENS Feho

Options:

-
1. #®

T
2.

Sy
3. %

aal
4. &

Question Number : 12 Question Id : 4509386572 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the sum of two roots of x* + px® + qx — 5 = 0 is equal to its third root, then p(p® — 4q) =
Bpd+gr-5=0 Q08 B0 SHFere) JNBIN TR WUFe Hrernd

NeT0 WONB p(p® - 4q) =

Options :



—20

1. %

20
2. %

40
3. ¢

=41
4, ®

Question Number : 13 Question Id : 4509386573 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

EP(x)=x"+ax* + b +ex? +dx +eisa polynomial such that P(0)=1, P(1)=2, P(2)=3,
P(3)=10and P(4)=17, then P(3)=

P(x) = x° + ax* + bx® + ex® + dx + e O3 23008 P(0)=1, P(1)=2, P(2)=3, P(3)=10
B0 PA1=17 T3 &OD), P(5)=

Options:

126



Question Number : 14 Question Id : 4509386574 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a polygon of n sides has 275 diagonals. then n 1s

A '-F\'S'ﬂ LY — o W
n 29257eN Gad) DaIVEHBS A T DOWS 275 OV n DV

Options :

25
1.+

35
2. %

20
3. %

15
4, %

Question Number : 15 Question Id : 4509386575 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of positive divisors of 1080 1s

1080 Q305 Q0 2725 DODS

Options:



L]
=

1. %

32
2.+

23
3. %

31
4. ®

Question Number : 16 Question Id : 4509386576 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

n

- n l ;...
It Q'n:z then Z?

e “C:.J' J'—{J o
n l n ¥
n=Liwg O z i
=) r r=( r
Options :
{”_l)aﬁ
1. %
na,
2. ®



Question Number : 17 Question Id : 4509386577 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

5
The coefficient of x®° in the expansion of (2}:3 = 3—) 1s

(2x3 —L)E 29 &2 DAGEAS x5 BwE). Heaso

3x2

Options :
8
1. %
9
2. ®
80
9
3.¢
29
3



Question Number : 18 Question Id : 4509386578 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1 L35
1 —+---fo 00 =
—I—3+ +3b9+
1 1.35
1+- + +—+++-mg’m§u:
3 3.69
Options :
V5
1. %
V6
2. ®
V15
3. %8
V3
4,

Question Number : 19 Question Id : 4509386579 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

L B - then C
= — ien C =
x-—a x>tbZ (x—a)(xZ+bZ%)
A Bx+C
= OO0 C =
o R S (x—a)(x2+b?)
Options :



a? + b2
: |
a? + b2
2. ®
—a
a? + b2
3.
a
a2 + b2
4. #%

Question Number : 20 Question Id : 4509386580 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

’ 3 5 7 — i (k
If cos* = + cos* =+ cos* = + cos* = = k then sin 1( [) T €08 1(_) 5
8 g g g \2 3

3 5 7 g g T _1(k
cos"‘% 1 C‘USJ’?H + c‘osd‘% T Caznsd‘?jT = k ©Q0NS, @@);ﬁ&) sin”* (\/;) +cos™? (;) =

Options:
21

1.+ 3
3T
4



N

ta| =

4. ®

Question Number : 21 Question Id : 4509386581 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

cos 10° 4+ cos 80° .

sin 80° — sin 10°

Options :
tan 35

1. &

tan 55
2.

tan 20°
3. &

tan 70
4, %

Question Number : 22 Question Id : 4509386582 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

sinl +sin2+. . .4+ sin89
2(cosl” +cos2°+. . .+cos44)+1

Options :
V2
1. =
1
V2
2.«
2
3. %
1
2
4, ®

Question Number : 23 Question Id : 4509386583 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of ordered pairs (v, v) satisfying the equations
sinx +siny = sin(x+y)and |x| +|y| = 11s

NanEBETeD sinx +siny = sin(x +y) HOAM 1] + [yl = 1 ©D ST (x, 1) (E

00T WO
Options :
2



LS

Question Number : 24 Question Id : 4509386584 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1 1 1
ATan T——Tagn *—4 Tan v—=

5 70 99
Options:
12
1. &
T
2. ® 6
T
4
3.+
T
3



Question Number : 25 Question Id : 4509386585 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 5sinhx — cosh x = 5. then one of the values of tanh x 1s

5 sinh x — cosh x = 5 @O0, tanh x A3VE) DeNSOS 2,463

Options :
2
5
1. %
2. %
e
b
3. ¢
—1
4. ®

Question Number : 26 Question Id : 4509386586 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC,ifr; = 4,1, = 8,13 = 24 thena =
AABC S’ 1y = 4,1, = 8,13 = 24 ®ONS a =

Options :
0

1. %

16

V5
2.

16V5
3. ®

V5
4, ®

Question Number : 27 Question Id : 4509386587 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a circle 1s inscribed in an equilateral triangle of side a. then the area of any square (in sq. units)
mnseribed m this circle 1s
2250 a T HOAS 28 AT (BHBNS 28 HTR) @osdD), &

598506 ©060D0RAS IFT VRGN0 TN FFOI0 (1. BFAOS)

Options :



{1
2'\;"5
3. &
aZ
6
4,

Question Number : 28 Question Id : 4509386588 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0






Match the items of List-I with those of List-IT (Here A denotes the area of AABC.)

PNTLS Q) QOTON, ZHT-LS A FES 2STON0A

(28 AABC ITER) A ATDN0A)

List-I List-Il
(&) (1)
(A) Zcom O 1 ‘h
Byt
(a+b+c) m
(B) Z A {1 S |
t— ” b —
cot (a°+b°+c%) m
(C) |IftanA:tanB:tanC = 1:2:3,thensinA:sinB:sinC = | (1) | 8:6:5
tanA:tanB:tan C = 1:2:3 ©0N®, sin A: sin B: sin C =
(D) Ifcotg:cotg:cotgz 3:7:9,then a: b:c = (V) |12:5:13
.| B i; Vi ad
cot—: cot-: cot = 3:7:9 9OV, o)) a:b:c =
V) [V5:2v2:3
(VI) |44

Then the correct match 1s
i — &
96 )0 B &

Options :

A-VI; B-I: C-II. D-III

A-II: B-I; C-V: D-II

A-II: B-VI: C-V: D-I




ANE Beile ) DR

Question Number : 29 Question Id : 4509386589 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let 0 @ A G+2} + E) B (—21_'+3E).C (.2? h }) D(ﬂ@are position vectors of the pomts 0. A. B.

C and D. If a line passing through A and B mtersects the plane passing through O. C and D at the

point R. then position vector of R 1s

0. A, B, C H80 D © &S &30 0(0). A[+2j + k). B(=2i+3k). C(2i +7). D(4k)
95070, A HES B © @50 Fod T, 0, C BN D © o> FID
$e7) R 56 OB W), R B0E) PSd0S

Options :

—8i — 4j+7k
1.+

2i4+j+k

I ] S

Lh
ol

143 —'5



Question Number : 30 Question Id : 4509386590 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

a. b. ¢ are non-coplanar vectors. If ed = a+ b+ ¢. fa = b+ ¢+ d. then ‘54- b+ + El —

2., 760 0D SOIEN. ad = a+ b+7. fa = b+ o+ d OB [a+ b+ T +d| =

Options :
1
1. %
2
2. %
la— b- ¢
3. %
0
4.

Question Number : 31 Question Id : 4509386591 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

7

st ; WM A ww Ay 3 e I
U, v, w are three unit vectors. Let p=u+v+w.g=ux (vxw). If gl g Ipl=2
and v=Kgq. then K=

7, we) 0P8 AN, p=u+7+Wg =X (7 x W) ©HR0T0. 5.1 =2,

=L 1pl=2 80 7=K7, ®00® K=
4

Options : _
% collegedunias



Question Number : 32 Question Id : 4509386592 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The distance of the point O(E] from the plane 7. (E+j+})=5 measured parallel to 2i+3/ — 6k is

23— 6F O dsrossdor FONSYD 0(0) Hod F(iHH)= oI

OO (10 (rdo

Options:

%



Question Number : 33 Question Id : 4509386593 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If @, b are the two non collinear vectors. then |i_J|E+ [a| b represents

a,b &0 HBYaAsren 50 Boch NOF0NS, |bfa + [a] b T SrAotdaBO

Options :

a vector parallel to an angle bisector of @, b

a,b © 2,8 5% QoA IDOCHS T 30236 (ie) 2.8 DS

1.

a vector along the difference of the vectors a, b

a. b HEF 23650 o e 2.8 DO

a vector along a+b

a+b o028 e 2.8 063

3. 8

a vector outside the triangle having @, bas adjacent sides

@, b 00 @835) 20230060 (1) 2,5 (3202300 200D (1) 2,8 O
4, ®

Question Number : 34 Question Id : 4509386594 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



x and y are the arithmetic means of the runs of fwo batsmen A and B 1 10 innings respectively
and oa. op are the standard deviations of their runs in them. If batsman A 1s more consistent than

B. then he s also a higher run scorer only when

A HBAM B &F 3dH 75y DS © B 10 adY0f) SR HiHe
©OSDETO) SEHIT T HOK 7, FES 8 HEHO (EDNBIOS50E
AT 53 HOA op. B 0T A DE3e) AOEE SOV ST HONS, B0

D50 DAHEN FFHODN PR SFE QAN GOTO0T)

Options:
) E I
0<—<—; —>1
Op ey
1.+
X oy
i
y Jg
2. &
X o
— = < 1
V Og
3. &%
¥ X 0O
s Q) o saeh
V V Og
4. %

Question Number : 35 Question Id : 4509386595 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



S 1s the sample space and A. B are two events of a random experiment. Match the items of List A

with the items of List B.

ListA ListB
I | A Bare mutually exclusive events |a | P(ANn B)=P(B) - P(4)
1T | A B are independent events b|P(4)=P(B)
I | ANB=A | 72
P (— =1~ p{a)

B

IV|AUB=S d| P(AUB)=P(A)+P(B)
e | P(A)P(B)=2

2,8 ASFCYD8 (0SS TS @8 B A, B &0 Bod RN,

A8 A 59 907D, HEEB S0 8S 2$TN0d.

88 A N
I | A,B 0508 D386 aabacden a | P(ANB)=P(B) - P(A)
I | A,B e Q506 0D b | P(4) <P(B)
IM | AnB=A ¢| /2
Pl3|=1-P(4)
IV | AUB=S d | P(4UB)=P(A)+P(B)
e | P(4)+P(B)=2

Options :

(I-e) (II-d) (I-c¢) (IV-b)

1. %

(I-a) (I-¢) (IlI-e) (IV-b)
2. ®

(l=d) (¢} [I-B) (V=2
3. ¢

I-b) (II-d) @ I-a) IV-c)



Question Number : 36 Question Id : 4509386596 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

P(AJANB)+P(B|JANB) =

Options :

P(AUB)

P(ANB)

b-J

Question Number : 37 Question Id : 4509386597 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two digits are selected at random from the digits 1 through 9. If their sum 1s even. then the

probability that both are odd 1s
1 0 9 58 He ©05e) ok AIreyD 0™ Boch 805en AoTNEDAD.

T3 Fn0 M8 N0P§ WONE, & ©OTEN BT TR AOVLEN TS 02T

Options :



ol wa

1
2. ® 2

5

8
3.

3

4
4. ®

Question Number : 38 Question Id : 4509386598 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A. B. C are mutually exclusive and exhaustive events of a random experiment and E is an event
that occurs in conjunction with one of the events A. B. C. The conditional Probabilities of E given
the happening of A, B. C are respectively 0.6. 0.3 and 0.1. If P(A) = 0.30 and P(B) = 0.50. then
P(CE)=

A, B. C 0 28 OSPC0)8 (DOIRI0G0E) D818 Daideh o sednden SHBa5H &
DOSOS 28 R H0GPHOS 20T 00 E. AN A B, € en 20099t E
A30%). A0 A02P5E T 0.6,03, 0.1 P(A) =030, P(B) = 0.50 @00

P(CIE) =

Options:

2

35

1.+



le
| L

2. %
18
35
3. %
17
35
4. %

Question Number : 39 Question Id : 4509386599 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

For the probability distribution of a discrete random variable X as given below. the mean of X 1s

X=x_ |=2] 1] 0 [ 1]3]3
PX=x)| L] 2| 3| 3| #&| 2
0 P O A P N
0 |~ 80 | I e

8065 a9 53 2.8 ©96508ye ASTFCYDE DOTE X Thng), D0rISE DerEo
D5 X AB08) @08 e0EI00

X=x e =) 0 1 2 3
P(X=x)| 1 '

Options :



SIS

2.4

6

5
3. &8

8
4. & 5

Question Number : 40 Question Id : 4509386600 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a random experiment. two dice are thrown and the sum of the numbers appeared on them is
recorded. This experiment is repeated 9 times. If the probability that a sum of 6 appears at least

siibe Py R AL AR G T, (NS P

2,8 OSFCY0)8 (WETHOS Boch FPAEOD F T ST S0P NE)
STy D, 8 (DOFTRY, 9 D 2YSTYB0 Tardd. T ST D0V
080 N0 28 7B 6 T N0aTNzS Pr SHOAD EAN0 2.8 B 8 T

RN0ET3EH Py GOV, Py:Py=

Options :
4:3
1. ®
351



1:1

Question Number : 41 Question Id : 4509386601 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the line segment joining the points (1.0) and (0.1) subtends an angle of 45° at a variable point P,

then the equation of the locus of Pis
2,8 DGO P G (1,0) SN0 (0,1) HOHahoD 39 Trepocso 450 © 5§80
DP 0T, P 330E) Do 8B,

Options :

(_1{2 _|_ }.'2 L l}{xz —|— }'2 — 2.1’ . 21Ir7 —I' 1} = ij = UJ ]_

(2 4y =D +y? + 20+ 2y + D =0,x 0,1

2. ®

x24+y242x+2y+1=0
3. &%

x2+y2=14
4, ®

Question Number : 42 Question Id : 4509386602 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the origin 1s shifted to a pomnt P by the translation of axes to remove the y-term from the

equation x® — y% + 2y — 1 = 0, then the transformed equation of it is
=y +27-1=0 a08080 Hod v IR SOR0DEAS Narodd el
D030 @ 5Te aure) HOHYD P DOchsy HEB 8R0S, ) Grarosd

Sé8e0

Options :

1. %

x2 —yZ2=10
2.

il B |
3. %

x> +y>=0
4, ®

Question Number : 43 Question Id : 4509386603 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A line L intersects the lines 3x —2y —1=10and x + 2y + 1 =0 at the points A and B. If the

pont (1. 2) bisects the line segment AB and E +% = 11s the equation of the line L. then

gt 2hdl=

L 9% 28 O6¥0 3x — 2y — 1= 008050 x + 2y + 1 = 0 dGSTDOD A HOCNH B
20090 6 DOABV0A. AB TIroTR) (12) DO Neb 08N TYOA
80k B L OR08} dah860 =41 = 1eon@B a+2b+1=

Options :

il

I3

4. &

Question Number : 44 Question Id : 4509386604 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A line L passing through the point (2. 0) makes an angle 60° with the line 2x —y+3 = 0. IfL
makes an acute angle with the positive X-axis in the anticlockwise direction. then the Y-intercept

of the line L 1
(2,0) DoY) (0o 0D LR 2.8 B 2x — y +3 = 0 30 60° 580 TL0D. (5
X-05 08 SOIS L2 00880 T 0%, B2 L 030E), Y-80688 2050

Options :



10V3 — 16

11
32
V7
2. &%
16 — 10V3
11
3. %
2
4, %

Question Number : 45 Question Id : 4509386605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the slope of one line of the pair of lines 2x% + hxy + 6y% = 0 is thrice the slope of the other
line, then h=

262 + ey +6y% = 0 Bgroiniod 2,809 B30, arew, Bods B rend) sire
5@@,11=

Options :



4.

Question Number : 46 Question Id : 4509386606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the equation of the pair of straight lines passing through the pomt (1. 1) and perpendicular to
the pair of lines 3x? + 11xy — 4y2 = 0is ax? + 2hxy + by? + 2gx + 2fy + 12 = 0. then
2a-h+b-g+f-12)=
(1, 1) Doy HOT e 3x% + 11xy — 4y? = 0 BIPONTRE ©ODOT GOB Y
Daroinio 8880 ax? + 2hxy +by? +2gx + 2fy + 12 = 0 @00,
2a-h+b-g+f-12)=

Options :



Question Number : 47 Question Id : 4509386607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Equation of the circle having its centre on the line 2x + y + 3 = 0 and having the lines
3x +4y—-18=0,3x 44y + 2 = 0 as tangents i
2x+y+3 =009 So|) $O0 3x + 4y — 18 = 000 3x + 4y +2=0

Teered )605en T e S ngGessn
Options :

x2+y2+6x+8+4=0

1. ®

x2+yvZ—6x—8y+18=0
2. %

x2+y2—8x4+10y+37=0
3. ®

x2+y24+8x—10y+37=0
4, &

Question Number : 48 Question Id : 4509386608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If power of a point (4,2) with respect to the circle x2 + y% = 2ax + 6y + &> = 16 = 015 9, then
the sum of the lengths of all possible intercepts made by such circles on the coordinate axes is

W2+ y - 2ax+6y+a-16=0 39S Syl (4,2) Gg) Doches 9 mand,
©erot] YT AGTFIFENO DAY WOSEPOTO PN O 08

B

Options :

16 + 46
1. &

16 + V6 — 6V2

2. &

16 + 46 + 6v2
3. &

16 + 612
4, %

Question Number : 49 Question Id : 4509386609 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let « be an integer multiple of 8. If S is the set of all possible values of « such that the line

6x + 8y + a = 0 intersects the circle x2 + y? — 4x — 6y + 9 = 0 at two distinct points, then
the number of elements in S is

a O 8 O30E) s T8 DT @DBIOTTO. 61 + 8y +a = 09 OD

4y -dr—6y4+9=0 O3 HTA) 00D Do & DoBORIEY
50008 @ G0E) B AEVSO) daded § AN, § S0 SIFOTE) HODS

Options :

4
1.+

6
2. %

2
3. %

1
4, %

Question Number : 50 Question Id : 4509386610 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the circles x* +y® —8x—8y +28 =0 and x* + y* — 8x— 6y + 25 — & = 0 have only

one common tangent. then @ =

X2+ y2 B8y +28=0 D00 a2+ y2 -8 -6y +25—a? =0 TN 25 2.8

a8 )50 $OR &38)S, a =

Options :



1. ®
id= 2
2. ®
a-—:1
3.«
=5
4. #%

Question Number : 51 Question Id : 4509386611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the equation of the circle passing through the points of intersection of the circles

xi =2 +y -4y —-4=0x%+2x +y> + 4y — 4 = 0 and the point (3, 3) is given by

iyt tax+By+y=0thend(a+f+y)=

(3, 3) Do) O S 12 — 2x + y2 — 4y — 4 = 0. HAOW

4 20+ 77 44y — 4= 0 59T D0CES D)o Hom FTH 9 NeEBE0

4y +ax+Py+y=0,80083(@+p+y) =

Options:
32
1. %
—33
2. %



Question Number : 52 Question Id : 4509386612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A common tangent to the circle x? + y? = 9 and parabola y% = 8x is

12 4 72 =9 59¢5e0 DA ¥? = 8x DTHOOTTE) TaEY &I D809
Options :

3x —V3y+2=0

1. #®

x—V3y+6=0
2.

2x —V3y+3=0
3. ®

r—3y+6—=10
4, %

Question Number : 53 Question Id : 4509386613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let F and F? be the foci of the ellipse % + :_2 = 1(b < 2) and B 1s one end of the minor axis. If
the area of the triangle FBF* is y/3 sq. units, then the eccentricity of the ellipse is

F 805 F en ’;—2 ¥ i—z = 1(b<2) BYSySo Ty e s, B (2T g8 s
08 2,8 VI8 ©NEIOT0. FBF! (832920 G308} IT'O50 13 ). AT eond
BSy0 Qg G800

Options :
y‘@ 1
_GI" —
2 2
1. &
5
V3
2. &
y‘@ 1
4 '
3. &
3 il
Rl
4, %

Question Number : 54 Question Id : 4509386614 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



, , : ity ,
If a circle of radius 4 cm passes through the foci of the hyperbola - ’%z 1 and concentric

with the hyperbola. then the eccentricity of the conjugate hyperbola of that hyperbola is

2 2 i
4 200 © a5rdo fo 28 Hydo - 2=1 e8Tdooho ang) T

HowE Féhr, & aNTHO0H0S HE0|A0DSH0D), & OBNTHOMO TN,
D00 BNTHOHO TE). ey 0[¢deh

Options :

2
1.+

243
2. %

Question Number : 55 Question Id : 4509386615 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



2
If a tangent to the hyperbola x* —y? = 1 is also a tangent to the parabola y? = 8x. then equation

of such tangent with the positive slope 1s
2 g LA W, LA
% —y? = 1 ©BHTHO0H0 TE) G0 ¥2 = 8x HTHOONAS Ere )80

@O0, S8 e DR @erot3 O)8:09 Ha8de0

Options :
L 0
}. —x—z rerre
1. #®
¥y—=2x—-1—0
2.

2y —4x—1=10

y—x—1=10

Question Number : 56 Question Id : 4509386616 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

IfA(1.0.2).B(2.1.0). C (2, -5. 3). D (0. 3. 2) are four points and the point of intersection of
the lines ABand CD 15 P (a.b. ¢). thena+b +¢=

A(1,0,2),B(2.1,0),C (2. -5.3).D (0, 3,2) & renth Docheyen SHEOM AB, CD ©

DOCES DO P (a, b, ¢) OONSB, a+b+c=

Options :



1.+
-5

2. ®
5

3. %
-3

4. ®

Question Number : 57 Question Id : 4509386617 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The direction cosines of two lines are connected by the relations [ + m —n = 0 and

Im —2mn+nl = 0.If @ 15 the acute angle between those lines then cos § =

Boch O© A 0 e [4+m-n= 000050 Im - 2mn +nl = 0 O NOVOTEO

Teb HOTTA0NDFO. 8 TP ez A0 OO0 § WOV, cosf =

Options :
T
6
1. ®
1
V7
2.



w =

Question Number : 58 Question Id : 4509386618 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The distance from a pomt (1. 1, 1) to a variable plane 7 1s 12 units and the points of intersections
of the plane 7 and X. Y. Z —axes are A. B, C respectively. If the point of intersection of the planes
through the points A, B. C and parallel to the coordinate planes is P. then the equation of the locus
of P1s

(1,1, 1) Doche od 2.8 580D o0 1 8 ffe) (rdo 12 AP 0k & oo
1 D00 X, Y, Z -895¢) D0Ch 20N ST A, B, € 0. ArI8 ehererd
NSPOSBOM GOT, A, B, C © (Hom® 3D dere) D0 Docha) P @S, P

308 DoNEG NadEBE0

Options :




i & 9 . T &
(—+—+——1) = 144 (—+—+—)

i 5 5 T F* 55
3. ¢

N : T .
(—+—+——1) = 144 (—+ +—)
X" g

Question Number : 59 Question Id : 4509386619 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

NI+ VI F A —VZF 2+ 20
lim =

x—0 x4

Options:

3
- =
(o8]

[ o]
{%‘H
()

{:-\_



1

32

Question Number : 60 Question Id : 4509386620 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ve —1

lim————— =
x—1(cos™1x)2

Options :
1
4
1.
1
2. ® 2
1
2
3. %
1
4
4, ®

Question Number : 61 Question Id : 4509386621 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



tan(a+1)x+tan 2x

ifx >0
If a function f(x) = { B atx =0 1scontinuous atx =0 then |a| + |f] =
sin3x—tan 3x .
el e
X
tan{a+1)x+tan 2x x> 0
. : W, o,
f)=18 atr =0 &9 (NDOHOx =0 I ©ID)N) 0 BONS, €35
sin3x-tan 3x ;
==t e
X
lal + 18] =
Options :
60
1. %
30
2.
3. % 13
45
4. ®

Question Number : 62 Question Id : 4509386622 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

-1 g ! dxz

; d?
y = tan(log x), OO0 é =

Options:



—sec?(log x)[1 + 2 tanx]

e
1. %
sec?(log x)[1 + tan(log x)]
o2
2. %
sec(logx)[2 tan(logx) — 1]
g
3. ®
sec?(logx)[2tan(log x) — 1]
%2
4. &

Question Number : 63 Question Id : 4509386623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Forx < 0 i[|J(i"'"] =
B

d
% <D @rﬁjémﬁs,d—[lxlx] =
X
Options:

(—x)* [-1 + log(—x)]

(—x)* [1 + log(—x)]



(—x)* [1 - log(—x)]

(—x)* [-1 —log(—x)]

Question Number : 64 Question Id : 4509386624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If v = x — x?2, then the rate of change of y? with respect to x at x = 2 is

y=x—x2 @00, x = 2 I x2 GJars y? ARNEY Sr)0ED

Options :

0
1. %

—3
2. ®

3
3.+

s
4. ®

Question Number : 65 Question Id : 4509386625 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

i I ; : : : 2 !
T =2n [ ¢ 1s a constant and the relative error in T 1s k times to the percentage error m L.

Vg

1
then— =
k

T \E.gaﬁ 0% 00 T A, Y B0 LG, B4 Ta5n0%

1
k 36D f—mﬁ“gz

Options :

2
1. %

1

> % 200

200
3. ¢

1
4. % 3

Question Number : 66 Question Id : 4509386626 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle between the curves y? = 2x and x% 4+ y2 = 81is

y2 = 2x DB x? + ¥ = 8 J[5°® 0§50

Options :



Tan (1)

Tan"1(2)
2. %
Tan 1(3)
3.4
1
Tan™! (——)
.
4, ®

Question Number : 67 Question Id : 4509386627 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the function f(x) = Vx? — 4 satisfies the Lagrange’s mean value theorem on [2. 4], then the

value of C'1s
f(x) = Va2 — 4 &8 |DOD0 [2. 4] 2 BP0 a5 75 V0T ¢ha)
N ANAWE N VMRS

Options:
2'\!@
1. ®
—2v3
2. %



Question Number : 68 Question Id : 4509386628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
If x, y are two positive integers such that x +y = 20 and the maximum value of 3y is k at
k
xzmyzﬁmmgﬁg—

X,y O 1 +y = 20 93D 5ed) O (eaPTOSEN O x = a,y = B &

= ol k
13y Q0% (18 e k @Qﬁ@az—ﬁz =

Options :
a f
__E__
B a
1. %
a f
f «
2. &%
a
B
3.4



a+f
afs

Question Number : 69 Question Id : 4509386629 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
J'zxz—_3 dx = ATan"x + Blog(x — 2) + Clog(x + 2) then 64 + 7B - 5¢ =
(x2-4)(x2+1) 2

3 2_
| % dx = ATan"x + Blog(x — 2) + Clog(x + 2) svon@

6A+ 7B -5C =

Options :

10

Question Number : 70 Question Id : 4509386630 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



: 3x? + 7x% J
J (x2 + 2x + 5x8)2 I

Options:

X?

5x7 +x + 2

i

5"

e
2(6x7 +x +2)

1
G
2(5x" +x +2)

—I'L'T

o
2(5x7 Fay-2)

Question Number : 71 Question Id : 4509386631 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

fdx =

" cosx + x sinx

x(x + cosx)

Options :

log|x? + xcos x| + ¢



X

1c:-g|—|—|—c
x+cosx
2.

l | COS X I‘|‘

o8 x4+ cosx ¥
3. %

1
log ‘— —logx +c
X+ CO5%

4, ®

Question Number : 72 Question Id : 4509386632 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2 T
Ifj ’ dx = 2log|A(x) — B(x)| 4+Cand 0 < x EE then B(H/4) =

\Jl + sinx

2 i3
- . it v <y <— @ m =
[ Em—— 2log|4(x) B(.x)|+coa3@oﬁw0__\52 9008, B(7/,)

"\

Options :

1
*.,,-"IIZ : ; 31.-"?

*n.,-'fl 3+ 2v2



'n.,-"l 3+ 2v2

3. &
2
-.,,-"2 + x-'E
4, %

Question Number : 73 Question Id : 4509386633 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

It ———x = -(tanx B4 Z (tanx)? + cthend =
f 2cos 3x\2sin2x 2 ( ) T 10 ( ) 5 1€11

3

J 2cos 3xy2sin 2x

3. 3
dx = . (tanx)? + — (tanx)4 + cwondB 4 =

Options :
1
2
1. %
1
2. ®
3. % >



Question Number : 74 Question Id : 4509386634 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
T
" x sin® x £
] 4 —cos?x -
-
Options:
2m(1 —log 3)
1. %

2 (1 Sl 3)
T 40g
3
n(l——logS)
4

41(1 —log 3)

Question Number : 75 Question Id : 4509386635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3
f|2 Lol dE=
-3



Options:

12
1. %

16
2. ®

13
3.+

25
4, % i

Question Number : 76 Question Id : 4509386636 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

—I5



G0

Question Number : 77 Question Id : 4509386637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Area of the region (in square units) enclosed by the curves y2 = 8(x +2), y? =4(1-x) and

the Y-axis 1s

y2 =8(x+2), ¥2 = 4(1—x) D ES0EN OO Y-85 00T 8580308 (2100

330E), FFOL0 (2. BN

Options :

8 _

5(5_ 3v2)
1.+

B e

g('wz = 1)
2. &

8

5(3 — 2
3. %

4. ®



He

-(V2+1)

ad

Question Number : 78 Question Id : 4509386638 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

3
s A . dYy dy\? /2.
The sum of the order and degree of the differential equation mrie (Al

S
by . /2 = W o o W
99800 dabgdeasn %:[H(g)] Q08 0PN B0 BOiee)

WEAW
Options :
4
1. %
6
2.«
3. 8 .
8
4, %

Question Number : 79 Question Id : 4509386639 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The general solution of the differential equation (x + v)vdx + (y — x)x dy = 0is

(c+y)yde + (v —0)x dy = 0 9380 &S0 By, A erded S

Options :

x + ylog(cy) =0

1. %

}T

—=log(xy) + ¢

.
2. ®

x + ylog(cxy) =0
3.4

TLF

Y~ log(exy)
px

Question Number : 80 Question Id : 4509386640 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (y? + x + 1)dy = (v + 1)dx is
(72 + x + 1dy = (v + 1dx ©3500D S50 BB0EY et eSS

Options :

x+2+ @+ Dlogly+ 12 =y+c



r

x+2+logly+1)2=—+c¢

¥k 1
2. %
~ logly + )* + v+
= log(y i
=i e Ura
3. &%
s : .
+logly+ 1) =y+c
P g )" =)
4, &
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Mandatory or Optional : Mandatory
Number of Questions : 40 40

Section Marks :

Enable Mark as Answered Mark for Review and
Clear Response: Yes

Maximum Instruction Time :
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Question Number : 81 Question Id : 4509386641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



E,m, L, G represent energy. mass, angular momentum and gravitational constant respectively. The
2
dimensions of ——will be that of
m°G?

Em,L,G 00 ST 48, (335073, §630% (¢9ad533i0 Bk Hicheds RT08snd

A0, —:Doeq DR APAN0A,

Options :
Angle
§°€20

1.+
Length
SrChod)

2. ®

Mass
(Ce350°%

3. %

Time
S0
4. ®

Question Number : 82 Question Id : 4509386642 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



; ; , , K- — .
A body starting from rest moving with an acceleration oiz ms 2. The distance travelled by the

body in the third second 1s:
=] o 'y Yo W 5 = = o W, -
D30 Ve DO ADNTON 28 Ss)7 ms 2 8 50569030 & [HOIFER0T) L) B.

30 8 S 5 0sd AT rtiasy

Options:
15
g ¢
8
1. %
25
—=TH
2. ¢
25
— m
3. %
12
— T
4. &

Question Number : 83 Question Id : 4509386643 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A projectile can have the same range (R) for two angles of projection. Their initial velocities are
same, If T, and T, are times of flight i two cases, then the product of two times of flight is directly
proportional to

2,8 |98 %50, Boch F6 36 SFasnod |93 Dot &8 § B2 NSrosd
P52 (R) SO0 06, ar¢3 S Tren Maird0. T, HO0I T, e £ T (3 28
T [DOITED SN A0, €8 T (0P8 SO O (506

SD0DN DENSE BDS STDTHOS SO

Options :

4.+

Question Number : 84 Question Id : 4509386644 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If |F + 6| == |F| = |6| then the angle between P and E is
[P+ Q| = |P| = |Q] ®@owd, P sHEAM Q d&F a5 Seasdn

Options:



1.2 O

1Z0°
2.4

60°
3. ®

90°
4. ®

Question Number : 85 Question Id : 4509386645 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A 4 kg mass 1s suspended as shown m figure. All pulleys are frictionless and spring constant K 1s
8 x 10° Nm™. The extension in spring is (g = 10 ms™?)
H0S BFNGBIY 4 kg |39507 (Serddabadod. @) nen diadrso

6010 200 VT80 K = 8 x 10° Nm ™! &0 (20N S FHEO (2= 10ms™)

dkg

oy

Options :

2 mm



2 cm

2.

4 cm
3. &®
4 % 4 mm

Question Number : 86 Question Id : 4509386646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A 3 kg block 1s connected as shown in the figure. Spring constants of two springs K, and K, are

50 Nm ™~ tand 150 Nm™* respectively. The block is released from rest with the springs unstretched.

The acceleration of the block in its lowest position is (g = 10 ms™2)

A0S ErRASY 3 kg © B 2oPTOT K, K, e SHT
50 Nm 200050 150 Nm e (1) (20 ©% 528 12008 06 ride S
B ATHVS DO HOFD. HONS AR TR Aed) TR0 G ) a)ch

¢ £09£207 (g = 10ms™2)

kg

Ks

Options :



10 ms ™2

1.

12 ms™?
2. &

8 ms~?
3. &%

8.8 ms 2
4. %

Question Number : 87 Question Id : 4509386647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two bodies A and B of masses 2m and m are projected vertically upwards from the ground with

velocities u and 2u respectively. The ratio of the kinetic energy of body A and the potential energy

of body B at a height equal to half of the maximum height reached by body A is

2m B0 m (3S5THen e Tt Heden A HBAH B Ard hodk §ez
©020T ST 1 OAN 2u FTOS 38 DIEDATON. HNa) A TV K62 dHS
0 ) 36 Sea) A GR0E), ez 4§ DO S0 B T0E) Va3 48 DS

Options :
g8:1
1. %
1z



Question Number : 88 Question Id : 4509386648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A body of mass 2 kg collides head on with another body of mass 4 kg, If the relative velocities of
the bodies before and after collision are 10 ms™ and 4 ms™ respectively, the loss of kinetic

energy of the system due to the collision s

2kg (395079 116 28 580 4k (555078 110> s VS DEDEADH @iireso
20200, 9DIPTRE a0 HBAM SDIFTAE ST JaNe)® VRS, IV

AT 10 ms ™ SO0 4 ms™! @O, WDITHO I 5 8248 D J8)0
Options :

| x 28]

56 ]
2.4

84]

427
4, ®



Question Number : 89 Question Id : 4509386649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The moment of mertia of a solid sphere of mass 20 kg and diameter 20 cm about the tangent to the

sphere 1s

1$36350°8 20 kg SHOAKD 7500 20 em (1) 2,8 200 A0 Gy )0) B Gaks TR

203695 (27080

Options :

0.24 kgm?

0.14 kgm?

0.28 kegm?

0.08 kgm?

Question Number : 90 Question Id : 4509386650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A wooden plank of mass 90 kg and length 3.3 m 1s floating on still water. A girl of mass
20 Kg walks from one end to the other end of the plank. The distance through which the plank
Moves is

185295073 90 kg DO rchey 33m ) 2.8 Ty O AOEAT &3) 3 3 Bew
A0, (B50°8 20kg {0 2.8 2P 2O 2,8 DG OB DHTE VIO G

399960, 20 86 ¢rdo

Options:

30 em
1. ®

40 cm
80 cm

60 cm
4,

Question Number : 91 Question Id : 4509386651 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In a time of 2 s, the amplitude of a damped oscillator becomes = times its initial amplitude A. In
g

the next two seconds, the amplitude of the oscillator 1s
2 e v Y. a W, Voo 1
255008 28 @380 Berdo FE) L09% H6DS TR §O) L0 HONS A -

BEY @D, S Foch DE0EES, E¥0 TE, 502 HBWS

Options :

1.



®
2
2% °
1
o
3.¢ ¢
2
82
4. %

Question Number : 92 Question Id : 4509386652 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A particle is executing simple harmonic motion with a time period of 3 s. At a position where the

displacement of the particle is 60% of 1ts amplitude, the ratio of the kinetic and potential energies

of the particle 1

2,8 8690 3 5 © BOTN0S FO0S NI P08 TS0 DONDN)E. §80
5050, T 020 BN 60% T3 TS0 G 8890 C0E) (132 SHAOKN

2682 150 A

2

Options :
33
1. ®
16:9



Question Number : 93 Question Id : 4509386653 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The acceleration due to gravity at a height of 6400 km from the surface of the earth is 2.5 ms™.
The acceleration due to gravity at a height of 12800 km from the surface of the earth is (Radius of

the earth = 6400 km)

A G080 D0 6400 km €8 SC DD 6590 2.5 ms™2 2 E&OBO0
0E 12800 km &) 36 (Hked § & 53£20 (25 35rG0 = 6400 k)

Options :

1.11 ms 2
1. &

1.5 ms ™2
2. B

2.22 ms ™2

1.25 ms ™2



Question Number : 94 Question Id : 4509386654 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When the load applied to a wire is increased from 5 kg wt to 8 kg wt, the elongation of the wire
mcreases from 1mm to 1.8 mm. The work done during the elongation of the wire is
(Acceleration due to gravity = 10 ms™2)

2,8 315 ©95S00AS 27T 5kgwt HOB 8kgwt K DO, S rDE®
tmm 0B 18mm § DOAD. & FHAEOS 260 H (D8ed§ ¢ 5890 =

10 ms"z)

Options :

47 x 1073

72 x 1072 ]

25 x 1073

97 x 1073

Question Number : 95 Question Id : 4509386655 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The radius of cross-section of the cylindrical tube of a spray pump is 2 cm. One end of the pump
has 50 fine holes each of radius 0.4 mm. If the speed of flow of the liquid mside the tube is
0.04 ms ™. the speed of ejection of the liquid from the holes is

28 () 902 WSS DO TG0 2 em. 0 28 DY 282863 0.4mm
TG0 O 82 BoIGren 50 &R0, 0 00 16 [T 36 0.04ms™

0N JO|FT0 DO IR (0 36
Options :

6 ms™!

2ms !

4ms™1

3ms !

Question Number : 96 Question Id : 4509386656 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The temperature difference across two cylindrical rods A and B of same material and same mass
are 40 °C and 60 °C respectively. In steady state. if the rates of flow of heat through the rods A and

B are in the ratio 3 ¢ 8. the ratio of the lengths of the rods A and B 1s

23 HrGos Bahah, 8 (355073 o A HOOH B & Bok s §3e
D60 3 Ko G Doen SENT 40°C SHB 60°C. AOLE PSS, A
580 B 330 500 dadar B60e D)8 3:8 ond, A HO0 B 53
YN DS

Options:

-3

h-3

4-3
3.

Sl

Question Number : 97 Question Id : 4509386657 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The efficiency of a Carnot cycle is e By lowering the temperature of sink by 65 K. 1t increases to
A .
7 The initial and final temperature of the sink are

2,8 50 150 G08) 386 - . BerdoN0 &5 65K Shothey 5o o)

[«

8 B % %) 20T, @S FberFoho g, $E) OO b GSf e
Options:

400 K,310K
1. %

525 K,65K

309K,235K

325K,260K
4.9

Question Number : 98 Question Id : 4509386658 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In a cold storage. ice melts at the rate of 2 kg per hour when the external temperature 1s 20 °C. The
minimum power output of the motor used to drive the refrigerator which just prevents the ice from

melting is (latent heat of fusion of ice = 80 calg™%)

27 Esifeh 20 °C €09):9)¢h, 2,8 A0 AGORS' S0t HOEIE) 2 ke BE Toy)d
$Henod. Do EDHRs AT, FSO50 aboo Y
EOA0T APErth GRNE) SR AG Rrandsen

(0T (SB35 1H8FR0 =80 calg™)

Options:

285W
1. ®

13.6 W
2.

9.75W

16.4W

Question Number : 99 Question Id : 4509386659 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A Carnot engmne has the same efficiency between 800 K and 500 K. and x > 600 K and 600 K.

The value of ‘%' 18

2,858 AH0[H0 800K SHOAN 500K, x > 600 K HOA 600 K © ¢ 2,3 38 ey
SN GOLNOG. BONS % DEN

Options:



1000 K

1. ®

960 K
2.4

846 K
3. &8

754 K
4. ®

Question Number : 100 Question Id : 4509386660 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When the temperature of a gas s raised from 27 °C to 90 °C. the increase in the rms velocity of

the gas molecules 1s
2.8 POMa) G308, Ead (150 27 °C H0G 90 °C 50 DODaY ), & TOI) e
rms BH0S DEDEE

Options:

10 %
1. ¢

15 %

20 %



17.5 %

Question Number : 101 Question Id : 4509386661 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the frequency of a wave 1s increased by 25%. then the change in its wavelength 1s (medium not

changed)
2,8 $E0M0 B30E), sy, 25% OB, Q) dEHGI0S R S (QSreS¥0
SPEBD)

Options :

20% increase

20% 2O M

1. 8
209% decrease
20% e5Pcde
2.
259% increase
25% 20N
3. &
25% decrease
25% 5H o
4, %

Question Number : 102 Question Id : 4509386662 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An object Iying 100 cm mside water 1s viewed normally from air. If the refractive index of water
4 : S
B2 then the apparent depth of the object i
DB 290 100 cm 96 6 2,8 S ehoD O’ D06 0RO Lra e, e o9 825e509
4 —_g AN Y Ty M Y, By
fﬁ@@é@;@%a , 8 Ia) QB8 s Sen
Options :

100 cm

50 cm

25 cm

75 cm

Question Number : 103 Question Id : 4509386663 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Young's double slit experiment, two slits are placed 2 mm from each other. Interference pattern
s observed on a screen placed 2 m from the plane of the slits. Then the fringe width for a light of

wavelength 400 nm 15

0%0f 50O (HTT0S Toch DOZORD 28TATEES 2 mm (oS @HT ).
S5E868 o5, VOO B0 N0 2m ArdoS G0 B N0
SG0MBY50 400 m 5N OB HE3 chen)

Options :

0.4 X 10 °m

4 %107 %m

0.4%x103m
3.«

400 m

Question Number : 104 Question Id : 4509386664 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two spheres A & B of radii 4 cm & 6 cm are given charges of 80 nC & 40 pC respectively. If they

are connected by a fine wire, the amount of charge flowing from one to the other 1s

TSTEN 4 cm aBON 6 cm (10 A OO B &7 B0k Frersd SAOOT 80 pC & 40
iC 8370 255099, 8 30ch Fored H910 e 4098, 2.8 f¥o Hod
OGINE RS (NPT NSTRF0 OE?



Options:

32uC fromBto A

B DO A 80 32 uC

1. ®
32 uC fromAto B
Ao B B0 32 uC
2.
20 uC fromAto B
A DO B By 20 uC
3. %
16 uC from B to A
, B DO A B 16 uC
. ®

Question Number : 105 Question Id : 4509386665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle between the electric dipole moment of a dipole and the electric field strength

due to it on the equatorial line is

28 5B B0 B8, AN, 8 A0 A8 DG
00D DR DN G DEDSS 3 @RS g §ea0

Options :



90°

180°

20

Question Number : 106 Question Id : 4509386666 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two condensers C;& C, in a circuit are joined as shown in the figure. The potential of pomnt A is V;

and that of point B 1s V,. The potential at point D will be

T\"'l V:Z

8 2 &

A B
g 2 g

TG0 e ¢, HBA ¢, O HHOS TS Jogro Tohadaron. A

3050 B D0chs)® 5O FRVOHO DT 1, 08050 ¥y @ons, D H0che) 58

FTAHO
Vi V,
¢ @ 9
A B
A
Options :

1
5 W+ V)
1. ®



GV + G115
S

C\Vy + GV,

L G
3.4 Ea
GV — GV,
C; + G,
4. %

Question Number : 107 Question Id : 4509386667 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A block has dimensions 1em,2cm and 3em. Ratio of the maximum resistance to minimum

resistance between any pair of opposite faces of the block is

2,8 O Gh0E) Sreden 1em, 2em SOOI 3em. B TANEY D) DO DTN

Sere) ¢35 1852 B0 SN AT A
Options:
91
1.+

1:9

i8:1



6:1

Question Number : 108 Question Id : 4509386668 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A current of 6 A enters one corner P of an equilateral triangle PQR having three wires of resistance

2 () each and leaves by the comer R as shown in figure. Then the currents [; and [, are respectively

2,85,63 2.0 B0 KPch SHOS POR BT DT 02020 TONDRE.
6 ADCNSS (DT5TO0 |B2H20 TN P Sire) T 50 S 08 (N0 D0 LrDSEY

R S50 T 507 Y aD0D0G. 90N DS e Iy, I, 00 ST

Options:

4A2A
1. #®

3A,3A
2. %

6 A0



2A,4A

Question Number : 109 Question Id : 4509386669 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The value of shunt resistance. that allows only 10% of main current through the galvanometer of

resistance 99 Q 15
DBE0 992 150 1T SrXTIE0 T ST° (DG DI HTTFOS 5900 10% S gad

90 23, 208 ABGO
Options :

9Q

4 €2

11 ©2

Question Number : 110 Question Id : 4509386670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In hydrogen atom an electron is making 6.6 x 10 rev/s around the nucleus of radius 0.47 A. The

magnetic field induction produced at the centre of the orbit is nearly
TEBS DESPEYS 28 VTR 047 & FERIG0 0 T80 LT DEDE
6.6 105 050N DY) E. DO|T® §5°5 50090 56 90D 08 3¢ e

Da) (FT0)

Options :

0.14 wh m ™2

1.4 whm™?2

14 wh m™2
3.

140 wh m™2

Question Number : 111 Question Id : 4509386671 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Any magnetic material loses its magnetic property. when it is

DB a0 Y0 Ik R @D 08 o) §SHEH0H

Options :

Dipped in water

DE3S’ SWVODS

1. ®



Dipped in sand

- RDES” SN0

Attached to an 1ron piece

2,8 Qe 0850 @e380DdN) D
3. %

Heated to high temperature

958 G |116550 AT VYR
4,

Question Number : 112 Question Id : 4509386672 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
When two coaxial coils having same current in same direction are brought to each other. then the

value of current in both the coils
23 OFS DS DS (DI, Toch DFED B OO 2.5TAEES
ST BD)S)C, € Boch BINHOS DN [HTFAFO Denad

Options :

Increases

D OTOCHAOE

Decreases

g 30od

2.



Remains same

S3BBV0CS VB0 s0LNOD

Increases in one coil and decreases i other coil

L, 8 SBHINRS S9OT0E HTFE HQS' § BNoH
%

Question Number : 113 Question Id : 4509386673 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A resistance of 20 (1 1s connected to a source of an alternating potential V = 200 sin(10mt). If t is

the time taken by the current to change from the peak value to rms value, then 't' is (in seconds).

V = 200sin(10mt) 508 FOVOHO 25508 20 0 AOS0 E0NG00. T ks
RDaT0 30 DENsd AOG rms NENSH SFOTAS DT 't SOVS "t Dena)

IR )

Options :

25 %I
1. %

285% 1074

25 X 1072

A5 1077
4. &



Question Number : 114 Question Id : 4509386674 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The average value of electric energy density in an electromagnetic wave is.

[where E, is peak value]

o Al af = W '-"\’s‘ O sl s LTA o W
2,8 AN §E0DAT088 SB0H0S DS 38 aro|cied TNZY HED DeN6d?
[E, —3D8 2ena]

Options :

El} EIL:IHS
1. % =

 ;

E Co Eg
2. %

1

E €o Eo
3. %

1

1 Eo Eg
4.«

Question Number : 115 Question Id : 4509386675 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An electron of mass ‘m’ with initial velocity v = vyl (v > 0) enters in an electric field E= —E,l
[E, is constant > 0] at t = 0. If A is its de-Brogli wavelength initially. then the de-Brogli wave
length after time ‘t’ 1s

W |B33503 ¥ = vy (vp > 0) BOSHO §0 28 T E = —Eyf (Eg > 0) §0 3
310 SR8 =06 (39000, & doFS & &5 Sdoif B0 1 oS,
5700 056 A5 1 ol Bso.

Options:
A
_ e E t
Ak mv,
1.
A
(1 - eE{,t)2
mv,,
2. 8
(l eEut) A
u MV,
3. %
e Eot\°
(1 4t ) A
mv,
4. ®

Question Number : 116 Question Id : 4509386676 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1t — meson of charge ‘e’. mass 208 me moves in a circular orbit around a heavy nucleus having
charge +3e. The quantum state ‘n” for which the radius of the orbit is same as that of the first Bohr

orbit for hydrogen atom is [approximately]

&350 ‘¢, ((O90°3 208 me 1) 2.8 p- QDRIR +3e WSF0 ) 2PBZ0E0 e
SYTEE $8565 BEHA0O. O 5500 B ' K A 85 F5do WBRS
DO BBE) R0 8D 855 T TR NSraTR0E [NSrdm]

Options:

n= 20
1. ®

ns 25
2.

n = 28

n~ 29

Question Number : 117 Question Id : 4509386677 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A mucleus with atomic mass number A’ produces another nucleus by loosing 2 alpha particles. The

volume of the new nucleus is 60 times that of the alpha particle. The atonuc mass number A of the

original nucleus 1s

A (355078 098 10 28 S01¢h%0 Boch ser) Serersd) T )65¢0 o 507 s BE §'éh
S0[005R) Geh)e Tod. & 5 So|t%0 GE) MdNBarEo ser) &
DIDBSPETRS 60 TEY, WONE SE) S0( BTN | S50 03 (A)



Options:

228
1. ®

238

248
3.4

244

Question Number : 118 Question Id : 4509386678 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A full wave rectifier circuit 15 operating from 50 Hz mains, the fundamental frequency in the ripple

output will be
28 a8 30001 805063 SO0 DIF00CD 50 Hz © edesd 50 endnBadd.

&3 505,065 AJead S0 BB DOE (PN e 350 e

Options :

50 Hz
1. ®

70.7 Hz
2. %

100 Hz

3.4



25 115

Question Number : 119 Question Id : 4509386679 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A PN junction diode 1s used as
PN D0& A3r& 0030

Options:

An amplifier

INTOINWY
1. &
A rectifier
DEEOE) B3
2. %
An oscillator
%80
3. &
A modulator
, S S
LB

Question Number : 120 Question Id : 4509386680 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A carrier 1s simultaneously modulated by two sine waves with modulation indices of 0.3 and 0.4

then the total modulation index s

TSR HEITEN 03 HOA 0.4 &0 () O A SEOTE T 50° 2,570 2.8
5350000 Sdofo JrdBas Dohadod. & WEANS o LrddBad
D850 .

Options :

.1
1. %
> % 0.12

0.5

3.+

.
4. &
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Question Number : 121 Question Id : 4509386681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The angular momentum of an electron in a stationary state of Li** (Z=3) is 3h/ . The radius and

energy of that stationary state are respectively
L (Z2=3) & 28 DEPoS JOFS SEod (350 3. & Paron )
500, $)e0 S

Options :

IT74 A, =545 w10 ]

1. %

6.348 A, —5.45 x 10717 ]
2.

6348 A 4545 % 10718 ]
3. %

2116 A, —545 1077 )
4. ®

Question Number : 122 Question Id : 4509386682 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the pair of elements in which number of electrons m (n—1) shell 15 same

D 208 Srosed (@-1) §5)00 S0 HSES oS JOFTD Gotrolr

HB0TS

Options:

Fe. Mn



2. &

K. Sc
3. &

Mn. Cr
4,

Question Number : 123 Question Id : 4509386683 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List-I List-IT
A | Tonization enthalpy I |P<Si<Mg<Na
B | Metallic character O |I<N<O<F
C | Electron gain enthalpy Il |B<Be<(C<0<N
D | Electro negativity IV |I<Br<E<(l

1506 3R 208 0H

o) )@ -1

A |s@rFZaddogrd)) | I |P<Si<Mg<Na
B | &3 3800 I |I<N<O<F

C oo [ﬁbﬂi LIT”;T § oﬁDCﬁ“@&j Il |B<Be<C<0O<N

D | e Q@f@”ﬁ%ég@f} IV |I<Br<F<(l

Options :

A-ITI B-IV C-I D-II



A-TII B-I C-IV D-II

2.4

A-TIV B-II C-1 D-III
3. %

A-TV B-III C-1 D-II
4. ®

Question Number : 124 Question Id : 4509386684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The correct order of bond angles of the molecules SiCls. SO3. NH3. HgClh 1s

SiCls, SO3. NHs. HeCly €069 OO0 2065 5% 1800
Options:

SO3 = SiCl4 > NH3 > HgCl2

1. =

SiCly > NH;3 = HgCl, >803
2. ®

HgCl>»>S03 > NH3 = 81Cl4
3. ®

HgCl =803 > SiCl4 > NH3
4, «

Question Number : 125 Question Id : 4509386685 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Observe the following structure

0=N-0:
(1) @ (3)
The formal charges on the atoms 1. 2. 3 respectively are

808 AT 6370 OB

0=N-0:
1) @ 6
DBATEDYED 1, 2,3 2N S e333°e0 SHIT

Options :

+1 0. -1
1. %

0 0. -1
2.

-1 0. +1
3. %

0 0, 0
4, ®

Question Number : 126 Question Id : 4509386686 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below

Statement-I: The ratio of the molar volume of a gas to that of an ideal gas at constant temperature
and pressure 1s called the compressibility factor.

Statement-1I: The RMS velocity of a gas is directly proportional to square root of T(K)

The correct answer 1s

150¢) BOCH ar§IEN B § )

Tt D09GS hefod, 2F &is TS deTdny Irerd
DINOSTERRS, 38) PO F7ETD HSNOSTERS ) A 1P
NIV TN

302 28 TN RMS S0, TEK) SU0rerds 690 S airdareod &otnod

SBES SIS

Options :
Both statement-I and statement-II are correct

" s -1 DO 75 E-IT BOCH® Q8D
1.¢

Both statement-I and statement-IT are not correct

2°§D -1 DB O a3 §$-IT BOCAT DB QD) 50

Statement-I 1s correct but statement-II not correct

S5-I ABADAE 57 75 S-IT DB 5°¢H

Statement-I 1s not correct but statement-II 1s correct

5D 51 ABDAE 5°CN 5°Q a3 §E-IT QBN

Question Number : 127 Question Id : 4509386687 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At 133.33 K. the RMS velocity of an 1deal gas is

(M =10.083 kg mol: R=8.3 Tmol1 K1)

133.33 K 9, 2,8 e3¢5¢)a°0306) RMS f0

(M =0.083 kg mol'’; R=8.3 Tmol'l K1)

Options :

200 m s
1.

150m s
2. &

2000 m s

400 m 5!

Question Number : 128 Question Id : 4509386688 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements
Statement I: In the decomposition of potassium chlorate. C1 1s reduced
Statement IT: Reaction of Na with O» to form Na>O 1s a redox reaction

The correct answer 1s

1505 TOCD 705N Bed SDTTON

T 55-I: SPEFNAH0 §TE DTBrocS , €1 § 09850 ToH0A
T5S-II: 07 & Na 85 S0 Nay0 23108 2.8 85 ) 3858
HBTS HETTTSH

Options :
Both statements-I and IT are correct

- M- 1 DBA °EW§- I TOCL® DB

Both statements-I and II are not correct

S5~ T oNOAN T°E§- I BOCH® SBAD) 576

2. ®
Statement-I 1s correct but statement-II 1s not correct
L, TR I Q8QDAE 57V M- I Q8D 5°¢H
®
Statement-I 1s not correct but statement-II 1s correct
p o DSBS QOADAE 5°CH 57 P FW5- T OOADIE

Question Number : 129 Question Id : 4509386689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following reaction

T(K) _
2A,(g) + By(g)———2A,B(g) + 600 kJ

The standard enthalpy of formation (ﬂfH 9) of AxB (g) 1s
1BO& VS5 HBBODOTSW

. TE)
2A,(g) + By(g)—2A,B(g) + 600 kJ

AB (g) BB0E 1050780 D030 JoTrd)) (4,HO)

Options :

600 kJ mol ™
1. ®

300 kJ mol™
2. ®

—300 kJ mol?
3.«

—600 kJ mol™
4, %

Question Number : 130 Question Id : 4509386690 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the molecule for which the enthalpy of atomization (ﬁ\aH 9) and bond dissociation
enthalpy (ﬂbomj H 9] are not equal
DOSre38se QOGE“@;. (enthalpy of atomization) (A,H® s BOK 20T

AOTO) (Bponal®) 2 SEDIH Naidssn 6 D DD

Options :



1. %
Clo
2. ®
3 % F>
CHjy
4.«

Question Number : 131 Question Id : 4509386691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T(K)
A () =—=
Kc for the reaction. =

B,(8) s 99.0. Ina 1 L closed flask two moles of B2 (g) is
heated to T (K). What is the concentration of B2 (g) (in mol L™) at equilibrium?

T(K)
Ag ) C (g}ﬁinﬁgéo Ke D063 9.0 0700 2.8 1 La¥(&eS Boch 306 ©

By (2) A T (K) 650 S Brth. S0m e 8¢ By (2) meheéd (mol L06S) d0eh?

Options :

0.02
1. %

1.98
2.

0.198



Question Number : 132 Question Id : 4509386692 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At27°C. 100 mL of 0.4 M HC1 is mixed with 100 mL of 0.5 M NaOH solution. To the resultant

solution, 800 mL of distilled water is added. What 1s the pH of final solution?

27%C 56, 100 mL © 0.4 MHCI & 100 mL © 0.5 M NaOH & §OF8. )65 (a8
800 mL 36300 2R SO, 06 |TaIeaa) pH 0eh?
Options :

12

1.+

Question Number : 133 Question Id : 4509386693 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

‘X" on hydrolysis gives two products. One of them 1s solid. What is “X™?

X' 230 D360 TOO Boch §0raTsod 2008, TS 258 Hvdrdo. X

E7?



Options:

P4O10
1. &
2. % I
Si1Cly
3_
4, % L

Question Number : 134 Question Id : 4509386694 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Ba, Ca. Sr form halide hydrates. Thewr formulae are BaClyxH;0. CaCly.yH0. StCly.zH;0. The
values of x. y. z respectively are
Ba, Ca. St @ &30 2FB& 0 )T, 3¢ JFeren BaChxHy0, CaChyH0,

$1Ch.ZH20. X, . 2 © 2000 DT,
Options:

2
1.+ %50

8,6, 2

§.6.6



6.4,2

Question Number : 135 Question Id : 4509386695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Cl Cl Cl

Cl Cl Cl
The bond angles by, b,, b; in the above structure are respectively (in ©)

2 QT29065°Q 2208 ST by, by, by ST © )

Options :

79,101, 118

118,101, 79
2. %

79, 118,101
3.8

118, 79, 101
4,

Question Number : 136 Question Id : 4509386696 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following oxides is acidic in nature?

806 e35)56 ¢S B €350 (098 EercH?
Options:

GeO?
1.«

CO

PbO»
3. ®

SnO

Question Number : 137 Question Id : 4509386697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-I List-II
(F~ 1on concentration (effects on humans)
in drinking water)
A | <1ppm I | Harmful to bones
B |>2ppm IT | Tooth decay
C |=10ppm [T | Brown mottling of teeth
Correct answer 1s
18065 aPe3Q 2365 TAHOG
Q-1 & I
(F~ @905 MCaeh (NN (D2TI0)
T Q63
A | <lppm I | Qo088 FA5G0
B |>2ppm | Dty § each
C |=10ppm I | H%9 12570 Soid
208100 B )CHE0

S IETVENEA TN Vi AR N To)

Options:

A - III. B -1IL C-I
1. ®

A -TII. B-1 C-1II
2. ®

A-TI B-I C-1III
3. %

A-IL B - III. C-1I
4.

Question Number : 138 Question Id : 4509386698 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of nucleophiles in the following list 1s
CH3NHy;. CH3;CHO, C;Hs. CH3SH
800 &DereS Srs3ar RS © oW
CH3NH2. CHsCHO. C;Hs. CHs3SH

Options:

3
1. %

[

2.

3. ®

Question Number : 139 Question Id : 4509386699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
An alkene X (C4Hg) on reaction with HBr gave Y (C4HoBr). Reaction of Y with benzene in the
presence of anhydrous AlCI; gave Z which 1s resistant to oxidation with KMnOy4 - KOH. What are
X. Y. Z respectively?
2,8 8L X (CaHls) HBr & 15055500 Y (CaHaBr) o & )00. eorr(d AlCh Jed§ 08
Y B02R & 85506 Z D 3006, KMn0s- KOH & e38)8660) Z A5ON0A. X.
Y, Z ) NP oa)?

Options :

1.



Lok o

c
)\ )\/ B m
2. % ’
/ﬁ/ {f‘\/[/,—fﬁh_vthx
/\’/// ‘ Br oo
3. %
[
M _ N\Br S
4. %

Question Number : 140 Question Id : 4509386700 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A solid compound 1s formed by atoms of A (cations). B (cations) and O (anions). Atoms of O form
hep lattice. Atoms of A occupy 25% of tetrahedral holes and atoms of B occupy 50% octahedral

holes. What s the molecular formula of solid?

25 DTN A(SEIOTAEN) B(SEIOTALN) HBO5) 0(&05TReN)
DEIPENIOT IS IBOE. 0 DGSTEVYEN hep ZPOTR) IS IHTOW. A
DOSTENHED 25% TEF TGO GO[TO) SENOIT, B TN 50%
TGO JO[TON BIENOTTON. DT Fa) SN FEET JE?

Options :

AB-204

ABO3

ABO»>
3.«

AHSBOy

Question Number : 141 Question Id : 4509386701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The density of nitric acid solution is 1.5 g mLl, Its weight percentage is 68. What is the
approximate concentration (in mol L) of nitric acid? N =14 w; 0 =16 w: H=1 u)

3635 ea) |c7s3690 0( 965 1.5 gL B 2 tiaehosy 68. F|E357od) mrehed mol LT &
PP J0? (N=141; 0=16u; H=1 1)

Options :

1. %



11.6
2. %

18.2
3. ®

16.2
4, «

Question Number : 142 Question Id : 4509386702 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The osmotic pressure of sea water is 1.0 atm. Four experiments were carried as shown in fable.

In which of the following experiments, pure water can be obtained i part-II of vessel.

Da|E A (STEIGE CBeIesn 105 atm. HEES AP NSO et (TP
0T, 1§00 O HTITPOS, arSS Q T 2rioS HERS A ©D0tHD?

piston piston
|| I
2 T e
Feed ey :.mg;@mga k-
Table (3435) it B
Expt. No. | Pressure applied in part-I of Vessel | Pressure applied in part-II of Vessel
I 10 atm
I - 10 atm
III 15 atm
IV - 15 atm
Options:
I, III only
. I, IIT o50° €5 o

IT, IV only
I, IV 2307 €550

LI IOL IV



IV only
TV 3075330

Question Number : 143 Question Id : 4509386703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Aqueous CuSOy solution was electrolysed by passing 2 amp of current for 10 min. What is the

weight (in g) of copper deposited at cathode? (Cu = 63 u: F = 96500 C mol )

28302003 D5 o5 10 AVTO 2PN CuS04 20 (TEIOS § 09 DS e

4 b
TR0, SEG G A8 AN 500 2730 (g0 ) 0eh?
(Cu=63 u; F=96500 C mol™)

Options:

0.195

Question Number : 144 Question Id : 4509386704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



For a first order reaction. the concentration of reactant was reduced from 0.03 mol L™ to 0.02
mol L™ in 25 min. What is its rate (in mol L™2s~2)?

2,8 006 185708 8550, 1808rE8) mehed 25 Avarexd 0.03 mol L0 0.02
mol L7180 008, ) 3 (mol L7571 ©¢5') 0eh?

Options :

6.667 3% 10°°
1.+

4 x 107*

6.667 x 107*

& % 1o

Question Number : 145 Question Id : 4509386705 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



‘X 15 a protecting colloid. The following data is obtained for preventing the coagulation of 10 mL

of gold sol to which 1 mL of 10% NaCl is added. What is the gold number of *X"?
X 2.8 HOBEE Serand. 10 mL © FO S &, 1 mL © 10% NaCl  $)0d:)ch, 267
3088506 JarBottys 1808 SFodn ©DoNod. X B, FO NSows

20eh?
Expt No. Weight of X (in mg) added to gold sol Coagulation
HRH dopg | K S $ DD X80 mge) | 088w
Not prevented
l 24 . }
(TBOIAGBY)
Not prevented
2 23
(QarBodEB )
Prevented
3 26
(RFOoBOR)
Prevented
4 27
(R80&06)
Prevented
5 25
(RFO0BOR)
Options :
24
1. %
> % 26
3 % 27

4.



Question Number : 146 Question Id : 4509386706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which sol 1s used as mtramuscular injection?

& or® & 802507065 (intramuscular) 2028 & T S CE?
Options :

Antimony Sol

e SO S
Silver sol
, 5 000 O
Emulsion of milk of magnesia
DO €35 DN VAT DD
3. %
Gold sol
FO ard
4.«

Question Number : 147 Question Id : 4509386707 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The reactions which occur in blast fumace at 500 — 800 K during extraction of wwon from haematite
are
D 08 DS 080 &S 7Y FOND & 500 800K S B 35en
.. 3Fe03+CO — 2Fe304+ CO
i. Fey03+3C — 2Fe+3CO
. FesO4+4C0O — IFe+4C0O2
iv. Fex03+CO— 2Fe 0+ CO

Options :

i, 11, 111, iV

1. ii. 111 only

2. ®

1. 1v only
3. %

1. 111, 1v only
4.«

Question Number : 148 Question Id : 4509386708 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following reactions give phosphine?
L Reaction of calcium phosphide with water
i.  Heating white phosphorous with concentrated NaOH solution in mnert atmosphere
. Heating red phosphorous with alkali

508 &) HB5N PRI o AN )eD?
L A8 OO R DS
i 30 TESBE0S e NaOH [(PSE08 8L aF)0R & J Tohoe
i, S0 & O TR0 & 3 T

Options:

1. 11 only

i, ii 37| H a0
1.+ =

1. 11, 111
2. ®

i1. 111 only

i1, 111 o377 €H o)
3. &% d

1. 111 only

i, 1ii o307 B

Question Number : 149 Question Id : 4509386709 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which transition metal does not form ‘MO’ type oxide? (M= transition metal)

2 DB S50 MO’ 355 8518 D BIGVIEN? M = HB38S S'570)



Options:

oV

1. ®
2. % CF
Mn

3. &%
4.v SC

Question Number : 150 Question Id : 4509386710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The paramagnetic complex 1on which has no unpaired electrons i tyz orbitals 1s

tre 88)EFFIS 2,068 DOITD 00 B HTOVTL 065 0Tz} IOTFS

Options :
[Fe(CN)g]*"
1. ®
[FE(CN:}GIB_
2. %
[Zn(NH3)s]*"
[Ni(NH3)6]**

4.



Question Number : 151 Question Id : 4509386711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is an example for fibre?

180D a¢3S” DA FHES 28 STITB?

Options :

CHE_{T‘H
(1 g

n

2. ®

CH, — ¢ =CH—CH;

cl 1

3. %

OC @—FD—O—CHICHEO

11

4,

Question Number : 152 Question Id : 4509386712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When glucose is oxidized with nitric acid the compound formed 1s
(1525 3 F1€35 @8N0 38158620 TODODSNCD ) NaF0

Options :

Gluconic acid

(r8°E e3:00

1. %

n-hexanoic acid

n-20°8 S 005N 0

Sacharic acid

35050000
3. ¢ f“

Cyanohydrin

DOHS RS
4, %

Question Number : 153 Question Id : 4509386713 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of essential and non-essential amino acids from the following list respectively 1s

1806 DA @670 D) &' @358 DO BRTFEE NS BaIP H0DS HEIT
Val. Gly. Leu, Lys. Pro, Ser

Options :

2.1



I3

!d
=

4.«

Question Number : 154 Question Id : 4509386714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the tollowing pair is not correctly matched?

1BOB a¢36S” DB 2ed DOV 208 DE?
Options :

Salvarsan — to treat syphilis

I S0T® — VO a5 D8 )50

1. ®

Luminal — Antidepressant

DO — 0Sr0e3 B0
2. ¢

Morphine — to treat cardiac pain

30838 — HOT S0 darBotEIZ

Acetylsalicylic acid — Antipyretic

\ DVTO POV @8N0 — 23 50V HHOTE
. W



Question Number : 155 Question Id : 4509386715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An alkene X (C4Hg) does not exhibit cis trans isomerism. Reaction of X with Br) in the presence

of UV light gave Y. What is Y?

$O)S X (CiHg) DR-IERS) FSTA), 9360090, X, UV 508 H:05 06 By &

D3SO0 Y 0 018008, Y 6?7

Options :

Br

Br

r

2. ®
/:Br\/
3. v g
/\’l’/\Bl‘
Br
4, %

Question Number : 156 Question Id : 4509386716 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The two reactions mvolved in the conversion of benzene diazonium chloride to diphenyl are
respectively

B0ES oHENDD STE D BAZO T 538808 2P S Boch 5850 SEIT
Options :
Swarts. Fittig

583 ), DEIN

1. %
Gatterman. Swarts
TeDNS, 88 )
2. 8
Sandmeyer. Wurtz
F0& OND. SO
3. %
Sandmeyer. Fittig
. F0& OHO, DEIR

Question Number : 157 Question Id : 4509386717 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Consider the reactions
H,C
(1) O3 —
C—CH - o
H,C” ? (2) ZwH,0

(1) dil.NaOH
X+Y -
(2) A

The TUPAC name of ‘7’ 1s
1508 B850 DB8HEF0TH0

H,C
= (1) O3
/C:CHE : > X+Y
HAC (2) ZW/H,0

(12O NaOH
2) A

Z

X4y

‘7> G308}, TUPAC %00

Options:

But-1-en-3-one

230°88-1-8RQ-3-200

4-Hydroxybutan-2-one
43| 8 )  BIR-2-20D

But-3-en-2-one

27°88]-3-B8-2-800
3.



1-Hydroxybutan-3-one

1- 338 )20 B D-3-80
4. %

Question Number : 158 Question Id : 4509386718 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Consider the following reactions

1508 VBN DBMEIOTHAW

N,Cl
10 Conc. HNO;
= X s &
283 K
Br, / H,0
Y and Z respectively are
Y. Z €0 IO
Options :
Picric acid (2.4.6 — Trinitrophenol. 2.4.6 — Tribromophenol

185 @0 (246 - DTS DD).  2.4.6 - |V (DI DO
1.¢

o — nitrophenol. p — bromophenol

0-SE DS, p- 153> DS



p — Nitrophenol. o — bromophenol

p— DI DD, 0 — |53 DO
2.4 — dinitrophenol. 2.4 — dibromophenol
24-BITE DO, 24-3 15 I DO
4. ®

Question Number : 159 Question Id : 4509386719 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1) Cro;/
+ CHyCl Auhy. A ——— B
AlCl (CH;C0)10.
273-283K
2) H;0", A\
The mcorrect statement about ‘B’ 1s
e 1) Cr0s/
L OHCl —f . § —— = ®
AICl, (CH;C0),0.
273-283K
2) H0" A

B 30 Q020802 QB85 5§

Options :

It gives test with Tollens reagent

A XS ) 53508 HBEAN0O

1. ®



It gives test with Fehling’s solution

2O DrOOR |08 HBE NS

\_‘-.f-?
It does not give test with NaOH + I solution
20 NaOH + I2 (3798908 DB E 65 5¢%

3. ®
It forms acid and alcohol with concentrated NaOH. followed by acidification
(TCH NaOH, € ¢50° 566 @3a0EGEI0 PR I €00 8GN
30O e RN

4. &

Question Number : 160 Question Id : 4509386720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

| Br, / NaOH CHCl;
Benzamude > N - - Y

alc. KOH

The conversion of X to Y 1s

Br, / NaOH Sl
OB s e
_ Hfl‘ll}_—'ﬁef’}:‘ﬁ KOH
X oD Y 1 S8 56
Options:

Hotffmann reaction

) oD TGS



4.

Etard reaction

Qe300 S

Stephen reaction

DS S5

Carbyl amine reaction

5*0O Q@ 8



